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Instructions for the Candidates

Write your roll number in the space provided on the top of
this page.
This paper consists of seventy five multiple-choice type of
questions.
At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an open
booklet.
Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the Question
Booklet will be replaced nor any extra time will be
given.
(i) After this verification is over, the OMR Sheet Number

should be entered on this Test Booklet.
Each item has four alternative responses marked (A), (B), (C)
and (). You have to darken the circle as indicated below on
the correct response against each item.
Example :@ . ®
where (C) is the correct response.
Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any
place other than in the circle in the OMR Sheet, it will not be
evaluated.
Read instructions given inside carefully.
Rough Work is to be done in the end of this booklet.
If you write your Name, Roll Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means such as change of response by scratching or using
white fluid, you will render yourself liable to disqualification.
You have to return the test question booklet and Original
OMR Sheet to the invigilators at the end of the examination
compulsorily and must not carry it with you outside the
Examination Hall. You are, however, allowed to carry original
question booklet and duplicate copy of OMR Sheet on
conclusion of examination.
Use only Blue/Black Ball point pen.
Use of any calculator or log table etc., is prohibited.
There is no negative marks for incorrect answers.
In case of any discrepancy in the English and Hindi versions,
English version will be taken as final.
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MANAGEMENT
Paper — 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.

All questions are compulsory.

In case a decrease in price of a

commodity results in an increase in

its demand on a negatively sloping

demand curve, it is called

(A) Anincrease in demand

(B) An increase in
demanded

(C) Law of demand

(DY) Any of the above

quantity

Production function is not based on
the assumption of the

{A) Substitutability of inputs
(B) Complementarity of inputs
(C) Marketability of products
(D) Specificity of inputs

Match the items of the following two
lists and indicate the correct code :

List -1 List - II
a. Trade i. Oligopoly
channel pricing
discounts

b. Tie-up sales ii. Locational
price
differentials

c. Price being  iii. Differential

non- pricing
responsive to

changes in

demand costs

d. Basing-point iv. Product-line

pricing pricing

Codes :

a b C d

(A) iv @i il i

(B) iii iv i ii

(Cy ii i iv il

(D) 1 i i v
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4.

Indicate the comrect code matching
the items in List — I with those in
List —IT as follows :

List -1 List —11
a. Competitive i. Variations in
parity in advertising
advertising

b. Promotional ii. Advertising

glasticity of scheduling
product
c. Optimal iii. Advertising
promotion expenditure
mix
d. Pulsing iv. Marginal
advertising equivalence of
advertising
media outlay
Codes :

a b C d
(A) i1 i i iv
(B) iii i iv il
(Cy i v i dii
(D) iv i iii i

Macroeconomics basically concerns
with which of following in an
economy ?

(A) Industry, Trade and Commerce
(B) Agriculture, Industry & Trade

(C) Employment, Inflation &
Growth
(D) Population, Income and

Economic Planning

The competition commission of India
has no rule in regulating which of the
following ?

(A) Restrictive Trade Agreements
(B) Abuse of Market Power

(C) Unfair Trade Practices

(D) Mergers and Acquisitions
J-17-14
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10.

The ability to understand,
communicate with, motivate and
support other people, both individually
and in groups, defines which of the
following management skills ?

(A) Hard Skills

(B) Soft Skills

(C) Conceptual Skills

(D) Political Skills

As , managers receive a
wide variety of information and serve as
the nerve centres of intemal and external
information of the organization.

(A) Leaders

(B) Monitors

(C) Distribution handlers

(D) Resource allocators

‘Which one is the correct combination ?

(A) Theory of — Bernara
Conditioning
(B) Operant — B.F. Skinner
Conditioning
Theory
(C) Stimulus — Hoodman
Response
Theory
(D) Theory of — Marshall
Associates
Match the following :
List—1 List — 11
a. Evaluative 1. Attitudes
statements or
judgements
concerning
objects, people or
events

b. The opinion or ii. Cognitive
belief segment of Component
an attitude

c. The emotional or iii. Affective

feeling segment Component
of an attitude
d. An intention to iv. Behavioural

behave n a

certain way

towards someone

or something
Codes :

a b c d

(A) 1 il i iv
(B) iv i 1 1
(C) iv i iii 1
D)y 1 1l n o iv

component
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11.

12.

13.

14.

As per Rorsach value survey, which
of the
instrumental value ?

(A) Ambitious
(B) Imagination
(C)y Wise

(D) Capable

following is not an

When we judge someone on the basis
of our perception of the group to
which he or she belongs, we are
using the shortcut, called

(A) Selective Perceptive
(B) Halo effect

(C) Contrast effect

(D) Stereotyping

Performance = [ (m, a, e). In this
expression ‘e’ stands for

(A) Efficiency

(B) Effectiveness

(C) Environment

(D) Entrepreneurship

Selecting a representative sample of
jobs, preparing job descriptions for
them, comparing them on the basis of
the information in the job
descriptions and placing them in
order of their perceived importance
represents which of the following job
evaluation methods ?

(A) Job grading method
(B) Job ranking method
(C) Points rating method
(D) Guide chart method
J-17-14
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11.

12.

13.

14.

TP T HASIUT o SR, Fferad o
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(A) TETETRET
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(D) TES = HoIS

Paper-111



15. Match the following :

List -1
a. A pay plan in
which most
employees are
part of the same
compensation
system.

b. A pay plan in
which different
compensation
systems are
established for
employees or
groups at
different
organizational
levels.

c. A pay system in

List - 11
i. Elitest pay
system

ii. Skill based
pay

iii. Egalitarian

which employees pay system
are paid on the

basis of the jobs

they can do.

d. The perceived iv. Internal
fairmess of the pay equity
structure within a
firm.

Codes :

a b c d

(A) i i il v

(B) iii i i v

(Cy 1 i i v

(D) i i i v

16. of an employee is the

process of evaluating the employee
performance of the job in terms of
the requirements of the job.

(A) Merit rating
(B) Job Evaluation
(C) Job Analysis

(D) Performance Appraisal

17. HRM is regarded as old wine in a
new bottle. This idea was formulated

by

(A) Armstrong
(B) Guest

(C) Storey

(D) Peter Drucker
Paper-111

18.

19.

20.

21.

The space for every worker
employed on the factory under the
Factories Act, 1948 should be atleast
(A) 9.9 cubic metre

(B) 10.2 cubic metre

(C) 13.2 cubic metre

(D) 14.2 cubic metre

Which of the following combinations

is correct ?

{A) The practice
of replacing
narrowly
defined  job
descriptions
with  broader
categories of
related jobs

(B) A firm’s
decision to
pay above,
below or at the
market rate for
its jobs

(C)  Groups of jobs
that are paid
within the
same pay
range

(D) A job that is
similar or
comparable in
content across
firms

Job
Hierarchy

Pay Grades

Pay Policy

Key job

A technique for resolving conflict in
which the parties agree to have a
neutral third party hear the dispute
and make a decision is called

(A) Negotiation

(B) Arbitration

(C) Smoothing

(D) Collective Bargaining

Identify the major actor(s) of
industrial relation, from the
following :

(A) Employees

(B) Unions

(C) Government
(D) All of the above

J-17-14
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19.

20.
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22,

23.

The yield to maturity of a bond is the

interest rate

(A) that makes the total cash flows
receivable from owning the
bond equal to the price of the
bond.

(B) that makes the present value of
cash flows receivable from
owning the bond equal to the
price of the bond.

(C) that makes cash flows
receivable from the bond till
the first call equal to the face
value of the bond.

(D) none of the above

Match the correct options for the
following capital budgeting appraisal
criteria :

List-1 List =11
a. The criterion i. Internal Rate
based on the cash of Return
flows of a limited
period.
b. The criterion ii. Pay-back
based on profit Method

over life of the
project.

c. The criterion that iii. Accounting

considers cash Rate of

flows over the life Return
of project which
considered the

time value of

money.
d. The criterion that iv. Net Present
derives the Value

outcomes in terms
of the rate of
return considering
the cash flows
over the life of
project with the
time value of
money.
Codes :

(A) 1 ioiii v
(B) i @i iv i
(C)y il v i ii
(D) iv  ni i i

Paper-111

24.

25.

26.

Match the following theories with
reference to the capital structure

theories :
List -1 List — 11
a. Traditional i Highly profitable
Approach companies
generally use little
debt.
b. Trade-off ii. Optimal  capital
Theory structure exists
c. Packing- iii. Optimal debt-
order theory equity ratio of
profitable firm
that has stable,
tangible assets
would be higher
than the optimal
debt-equity ratio
of  unprofitable
firm.
Codes :
a b C

(A) i i i

(B) i il i

(C) ii i ii

(D) 1 i i

Lintner Model shows that the current

dividend depends

(A) partly on current earnings and
partly on the previous vear’s
dividend.

(B) partly on market rate of return
and partly on the expected rate
of return.

(C) partly on current earnings and
partly on the expected rate of
return.

(D) partly on previous year’s
dividend and partly on the
market rate of return.

“The difference between the forward
rate and the spot rate is just enough
to offset the difference between the
interest rate in the two currencies.”
This concept is known as

(A) Purchasing power parity

(B) Fisher effect

(C) Interest rate parity

(D) International Fisher effect

J-17-14
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24.

25,

26.

frfafea fogral & OSma Se
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o TTERE i S SR
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STATIRITEE FH &
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3T § AT Bl
g
B
a b c

(A) i i i

By i i i

€y ii i il

(D) i i i

frfeTiad o 9 e &

(A) SATeI ¥ F =] HHTE (3M) W
3R v w9 ¥ fodt a9 &
AT T

(B) 31T & 9 Ufa%hel i ST 7
T AR AYH &7 G Ufahed i
AT 3¢ T

(C) Mo €7 ¥ O] FAE W AR
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(A) 3T wfeT gHar

(B) THIR worrer

(C) =T 3T 9Han
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27.

28.

29.

Match the following terms :

List -1 List - 11
a. Forward i An agreement
contract between two parties
to exchange one set
of cash flows for
another
b. Futures  ii. A standardized
contract contract
c. Swap iii. The seller of an
instrument  grants

the buyer the right,
but not the
obligation, to buy
or sell some asset at
a pre-determined
price during the
specified period

d. Options iv. A  tailor made
contract

Codes :

a b c d

(A) 1 @i i v

(B) ii v i i

(Cy i i iv i

(D) iv i i il

An analysis of percentage financial
statement where all the Balance
Sheet items are divided by the total
assets and all the income statement
items are divided by net sales or
revenue is known as

(A) Index Analysis

(B) Trend Analysis

(C) Ration Analysis

(D) Common size Analysis

A company collecting cash from
customers within two days and
paying to suppliers in 35 days, will
have

{A) Negative operating cycle

(B) Negative cash cycle

(C) Both (A)and (B)

(D) None of (A) or (B)

Paper-111
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30.

31

32,

Match the following expressions :

List -1 List - 11
a. Venture i. Emphasises  on
capital Corporate
governance
b. Private ii. Issue of securities
equity to a select group
of persons not
exceeding 49
c. Private iii. Emphasises  on
placement Management
capability
Codes :
a b C

(A) i ii iii

(B i iii i

(C) iii i ii

(D) i i i

The fundamental determinant of a
person’s wants and behaviour is

(A) Perception

(B) Personality

(Cy Culture

(D) Social Group

Consider the following statements :

(1) Exclusive dealing amounts to a
restrictive agreement under the
Competition Act, 2002.

(2) The rate of growth in the
service sector in India is
highest among all the other
sectors of economy.

(3) Predatory pricing is not
regulated under any law.

(4) A company using sales force
promotion and trade promotion
is using “Pull” strategy.

Indicate the correct answer out of the

following :

(A) While statements (1) and (2)
are true, (3) and (4) are not.

(B While statements (1) and (3)
are true, rest are not.

(C) While statement (2) is true,
others are not.

(D) All the statements are true.

J-17-14



28.

29.

(A) i i i iv
(B) i iv i i
(C) iii i iv i
@ iv i i i

g focira faeror = fogeioor, sw@i
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g0 fawiisa o STt € 3T 99 "
foreror =t 92 et faferat ar e g
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g7

(A) o fagergor

(B) vt fawermor

(C) 3T ferveroT

(D) TS STHR fagerTor

TH FEAT ST S G &+ 3T U 9
THE WUEIT X @l & AN YRl i
35 fedt B A wRr g, foew feafa @
HIHAT BT 2

(A) ROMCHSD T Tsh

(B) SRUTIcHe: T Tk

(C) (A) 3R (B) a4

(D) (A) T (B)H 9§ ST Tl
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30.

31.

32.
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HIS:
a b C

(A) i i i
(B) i il i
(C) ii i ii
(D) 1 i i

Teh AT Sl SATHATS T TR
1 eIy e &

(A) Sre/aRoT

(B) SfRIA

(C) wepia

(D) QIS TE

fAfefaa et W faemr Sty

1. uiqerEr tufEm, 2002 & Fdd
I WS, Ul THeir &
TR E |

2. YRA Y e % UL & o
T a8 B Irg-aT TEd ATH
g

3, @YEiad $Hd uRer fEar
HA gRT fafatia =i & |

4, foFg s UcOET 9 =R
TicqeT T TANT A oAl T
Yot IO T TENT T & E |

fr=fafed 8 9 @& 3w 9T

(A) = (1) 701 (2) W €, R (3)
3T (4) TR T € |

(B) oreied (1) a9 (3) WEl &, g |l
TR E |

(C) o= (2) el ¢, 3 o e

TE |

it FeTeT TEE |

D)
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33.

M.

35.

36.

37.

Personal influence is most important
at the stage of the consumer
adoption process.
{A) Adoption

(C) Evaluation

(B) Awareness
(D) Tral

The price setting method most
closely corresponding of the concept
of product positioning is

({A) Cost-plus pricing

{B) Psychological pricing

{C) Going-rate pricing

(D) Perceived-value pricing

Use of mail, telephone and other
non-personal  contact tools to
communicate with, or solicit a

response from, specific customers
and prospects is called

(A) Advertising

(B) Direct Marketing

(C) Sales Promotion

(D) Public Relations

marketing describes the
employees’ skills in serving the
clients.
{(A) External
(B) Interactive
(C) Internal

(ID) Relationship

Match the two sets of concepts :
List -1 List — 11
i. Evaluation of a. Perception
Alternatives

ii. Post-purchase b. Cognitive
behaviour Dissonance

iii. Selective c. Life style
distortion

iv. Psychographic d. Expectancy-
segmentation value model

Codes :

a b c d
(A) i i i v
(B) i i iv 1
(C) il i iv 1
(D) iv  iid i 1
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38.

39.

40.

41.

42,

Which of the following determinants
of service quality is the most
important ?

(A) Empathy

(B) Reliability

(C) Responsiveness

(D) Tangibility

While developing customer loyalty
programmes, database is often not

helpful in
(A) Identifying prospective
customers

(B) Deepening customer loyalty

(C) Avoiding serious customer
mistakes

(D) Creating consumer associations

The problem caused by a redundant

constraint is that

(A) the problem shall have no
feasible solution.

(B) the problem shall
bounded solution.

(C) the redundant constraint can
never be satisfied.

(D) none of the above.

have a

The upper control limit for an
R-chart is

(A) RD,

(B) RD,

(€) R(1+3d;/(dy\/n))

D) X+A,R

A company uses rivets at a rate of
15,000 kg per year, rivets costing ¥ 6
per kg. If the cost of placing an order
is ¥ 60 and the carrying cost of the
inventory is 30 percent per annum,
the Economic Order Quality will be
(A) 1000 x~[2kg

(B) 1000 kg

(C) 1004/10 kg
D) 2004[5 kg
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33.

3.

3s.

36.

37.

IUAIERT STTIHIOT Uik i foh arere
T Safores TS Helltesh Hewqor & ?
(A) 3TTRIOT

(B) STHeRI

(C) weArh

(D) Tt (2re)

e fefqetor @ fehedd @I
TG el SrAd T fafy e 9 € 2
(A) TNTANN HAd fHaRoT

(B) TSR SAd (o

(C) TTo)-8X HiFa e

(D) SY-HoF SHiFd e

AR qAT TS TMeehi T FOR B AT
ST IREA UM % oW gor, et
qer 3y Foafeas T qrEAt &
1 T e € 2

(A) fo=mom %=

(B) Wcget fauue

(C) Tosha Hae

(D) SH-TTH

foquE, Tl @ Fear wEE HH
T HHENET o Il ol 0 LT & |

STAYROMS % T TH T G DT -
e -1 et - 11
i. fopeat F a. GROT
o
ii. shATORT b.
AR Torgantear
iii. =atd faeqor . e St
iv. TgwE d. AT 9o
fervretrentor et
S

ERIEIRAC

a b c d
(A) i i v
(B) i i iv 1
(C) il i iv 1
(D) iv  iid i 1

[
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38.

39.

40.

41.

42.

T TuTER H FEfciEd § | ®E 9
e wattys Teweget € 2

(A) T

(B) forwerg=iaan

(C)  ryfsRarcHehe

(D) T

ek =T HEHAT H faErEd A
Y, gl ey Hefeiaa § & fhas
TETS TEl B ?

(A) Tifad UTeehl st vea o

(B) TTEeh et &t e a9 |

(C) TR Weeh TArddl T IReR e

E
(D) SUieT 95 Tifad LT |

AP (I HIeTq) STeRY FRT 3cd

T

(A) ?wwﬁéwmmmﬂﬁ
|

(B) THE &l UReg &c1 &I |

(C) faeE Ry Ff ot Iqe T&

ERISIRESIEN
(D) Swd o | g TE

R-AE % fo1 Sear Ty I g
(A) RD,

(B) RD,

(€) R(1+3dy/ (dyyn))
D) X+A,R

T AT UfT a9 15000 kg B R G
el @ #erh) H ST wA T
et &1 g™ ufd kg T 6 & | A% e
3 &l T ¥ 60 § 3 @haan @t Fema
AT Ui &Y 30 Uiqrd ¢, o -3
3T HET BT

(A) 1000 x~[2 kg

(B) 1000 kg

(C) 1004/10 kg
D) 20045 kg
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43.

44.

45.

The arrival rate of customers at a
service window of a cinema hall
follows a probability distribution
with a mean rate of 45 per hour. If
the service rate of the clerk follows
Poisson distribution, with a mean of
60 per hours, what is the probability
of having no customer in the system ?
(A) 0.75 (B) 0.60

(Cy 0.25 (DY 045

From which of the following can
retailers immediately determine, how
many packets they should stock each
day to maximize the profit ?

(i) Expected profit from each
stocking action
(ii)) Expected loss from each

stocking action.
(iii) Conditional-profit table
Codes :
(A) (i), (ii) and (iii)
(B) (i) and (ii)
(C) (ii) and (iii)
(D) (i) and (iii)

(i) In PERT, it is assumed that the
activity times follow the beta
distribution.

(i) In CPM, two time and cost
estimates are made for each
activity, which are called the
optimistic and  pessimistic
estimates.

(iii) Time is the only variable used

in PERT.

{iv) While in PERT the emphasis is
on event, in CPM the emphasis
is on activity.

(A) All of the above are true.

(B) While (i) and (ii) are false, (iii)
and (iv) are true.

(C) Only (i). (iii) and (iv) are true.

(D) All the above are false.

Paper-111
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46.

47.

48.

If a=4and b =2 for a particular
estimating line with one independent
variable, and the wvalue of the
independent variable is 2, what will
be the value of the dependent
variable 7

(A) -1
(B) 0O
C€) 8
(D) 10

For estimating an equation to be a

perfect estimator of the dependent

variable, which of the following is

true ?

(i) The
estimate is zero.

standard error of the

(ii) All the data points are on the
regression line.

The co-efficient of determination
is (-1).

Codes :

(A) (i) and (ii) only

(B) (ii) and (iii) only

(C) (i) and (iii) only

(D) (i), (ii) and (iii)

(ii1)

The ‘F ratio contains :

(1) Two estimates of the
population variance
(i) Two estimates of the

population mean

(iii)

One estimate of the population
mean and one estimate of the
population variance

Codes :

(A) (i), (ii) and (iii)
(B) (i) and (ii)
(C) (i) only

(D) (iii) only
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43.

44.

45.

e g @ g gt (Service
Window) T UTgeh sl AT T U &
45 & AT T F Y WGhdl s
IR & | A T T Qe & Ul =T
60 % T & T WG ST B e
HIA &, A BT WEH T e Dl Whar
T BT 9
(A) 0.75
(C) 0.25

(B) 0.60
D) 045

frfefed # 9 forad G i @@=
7E fuitd = dd & T o =
Ahad B & od ST UAE oA
o Uohal o1 SR § WaAT =1fed ?

(i) U YR fshaT ¥ Teaterd o
(il) Ve TSRO ST | Ueni¥Td &1
(iii) TUTTeY-STT TfeTeht

e

(A) (i), (i) 3R (i)

(B) (i) 3 (i)

(C) (i) 3 (iii)

(D) (i) 3 (i)

() U (MEARX) , Tg HEA ST &
f& Tiafaty 99g S ST @
AT BT & |

(i) CPM H, 3 99T U4 AN 3THH

T Tiatary & ol e

T €, ST STIeIESy U FReTensT

3T FEeld & |

T THAET W ¢ e A

ST foRaT ST €

Safeh 1 H SR HeAT W @ ¢,

CPM H SR Tidfafy W@ & |

(A) S T FAE |

(B) (i) 3T (ii) 319 €, (iii) 3T (iv)
IAE |

(C) oA (i), (iii) 3 (iv) TAE |

(D) S0 T A & |

(iii)

(iv)
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46.

47.

48.

g TH WAT W H I UH (N
FTAA T H W a=4TMb =28 T
e TR B god 2 €, df ST W H
o T 80T 2

(A) -1

By 0

(C) 8

D) 10

el gHieRoT H ey W # g

3AH B % T ffatad & 9

T2

(iy  FHM I A e LA E |

(i) |t kel & &g Ui W@ W
Kl

(iii) THEROT 1 FE-TOTF (—1) ¥ |

Bﬁ?:

(A) hereT (i) T (i)

(B) e (ii) T (iii)

(C) ohaeT (i) T (iii)

(D) (), (i) T (i)

LG I H ffed 8¢

(i) S TERT % qF 3THH

(i) SFHEE AT & T STEA

(iii) SHEET "7 N Teh STLAM AT
STHEEIT YE0T 1 Ueh A

aﬁ%‘ .

(A) (), (i) T (iii)

(B) (i) e (ii)

(C) e (i)

(D) oA (iii)
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49.

50.

From the following statements,
identify the correct answer :
Statement I : The chi-square and
‘t" distributions are always
symmetrical distributions.
Statement II : If we have large

enough sample sizes, the
assumption that “the samples
are drawn from a mnormal

population” can be discarded

with ANOVA testing.

Codes :

(A) Both the Statements I and II are
correct.

(B) Statement I is

Statement II is wrong.

correct, but

(C) Statement II is correct, but
Statement I is wrong.
(D) Both the Statements I and II are

WIOIE.

Arrange the following steps involved

in  the ‘information system
development cycle’ in the ascending
order :

(i) Installation of the system

(ii) Operations of the system

(iii) Definition and objectives of the
system

(iv) Review and evaluation

(vl Development of the system
Codes :

(A) (D), (iii), (v), (iv), (ii)

(B) (i), (i), (v), (i1}, (iv)

(C) (v, (), (i), (1v), (i1)

(D) (b, (v), (1), (1), (Qv)
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51.

52,

53.

Match the items given in List — I with
the most suitable items in List —I1 :

List -1 List — 11
a. Wireless i. Ring
networking
b. Network ii. Infrared
devices
¢. Network iii. Network
models Repeater
d. Network iv. TCP/IP
Topology 4 layered
protocol
Codes :

(A) i i dii v

(B) iv i i i
(C) i i iv i
D) i iv i i

Which one is not the item to be
necessarily included in the report on
Corporate Governance in the Annual
Report of listed companies ?

(A) Board of Directors

(B) Audit Committee

(C) Sharcholders’ Committee
(D) All of the above

According to the BCG matrix, and

given your knowledge of the
technological environment, a
business unit that manufactures

typewriters would be an example of a
(A) Cash cow

(B) Dog
(C) Question mark
(D) Star
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49.

50.

T 3Tl & Wl 3T¥ &l UaT

R 3Q

FAVFETAI: HE @WEEC  dO
foraRor wee gaiyd faaor ea € |

aAfveer 11 ¢ 3 TAR I Hissl ST
o €, 79 9Ron Wi foF ufeE
qEg SHEEn ¥ foar m g
THiET (T U9 30 & U) W g
e foram ST W § |

HIE
(A) FhTee [ oo II 54 Tal & |

(B) e 1 W&t € W= ST
11 7eq ¢ |

(C) e 11 WEl €, =g ST
[TAT & |

(D) 3Aterer I e I g1 Teid & |

oA vt foe g (SwEeE faen

\. o N [N aY o (e aY
SAeTHe  dHlglenet) ﬁ Hled [AHlcilEd

TROT ST STRIET 58 H SHSIT HIFT ;
(i)  TTet e

(i)  VoTet st wiskamns

(iii) O St 4feTeT e 32
(iv) T q goaih

(v) Vet & fosm

aﬁ%‘:

(A) i i v iv i

B) i i v i iv
€ v i i iv i

) i v i i v
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51.

52,

53.

I F & T AT H GALID F ST
UGS WRl ¥ T I
e -1 = - 11
a. aERAH i
BCeiCall
b. e fead ii. THERS
c. Wegdh Hieed i, Hedd Ry
d. Jea® iv. S
Zarersit AW, 4 TS
Teishiet
HIE:

a b C d

(A) i i dii v

(B) iv i i i
(C) i i iv i
D) i iv i i
Gelleg AT % aiye ufdas o @

T FHUNE AIET % Ufdaed |
frefafed & § B9 9@ 7% e
ST &l st STt 2

(A) e Hoee

(B) oIGEl-uXieT WAt

(C) IRYN g

(D) ST F

TGS, e F ITER Y Wi
IAER0] & a) | 30 T &3 89 W,
U AEHNTE THhe S UL i
fafaror st & Feafafad & 3 g
IR & 2
(A) H3T FHreq
(B) =m
(C) W T
(D) VR (@R
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54.

55.

56.

Assertion {A) : Vertical integration
is considered as a growth
strategy because the firms
operations are expanded
beyond primary business.

Reasoning (R) : Vertical integration is
the mixed empirical result to
strategy

ascertain whether the
helps or hinders the performances.

Codes :

(A) Both (A) and (R) are correct,
and (R) is the right explanation
of (A).

(B) Both (A) and (R) are correct,
but (R) is mnot the right
explanation of (A).

(C) (A) i1s correct, but (R) is not

correct.

(D) (R) is correct, but (A) is not
correct.

In the context of strategic

management, a stakeholder can be

defined as :

{(A) An individual or a group have
financial interest in  the
organisation.

(B) An external individual or a
group that is able to impose
constraints on the organisation.

(C) An internal group or individual

that is able to influence
strategic  direction of the
organisation.

(D) An individual or group with an
interest in the organizations
activities and who seeks to

influence them.

What are the stages 2, 3 and 4 of the
active strategic process ?
(A) Generate process, select
strategy, implement strategy
(B) Strategy selection, strategy
implementation, strategy
control
(C) Deliberate strategy, emergent
strategy, realized strategy
Appraisal of strength and
weaknesses, choice of strategic
direction, strategic
implementation

(D)

Paper-111

18

57.

58.

59.

60.

The first step in the development of a
business mission is

(A) aSWOT analysis

(B) Goal formulation

(C) Marketing Research

(D) Strategy Formulation

At which level in the company
should market oriented strategic
planning begin ?

(A)
(B) Functional level

(C) Marketing department level
D)

Corporate level

Strategic business limit

Which of the following technique
stimulates people to greater creativity

by meeting with others and
participating in organised group
experiences 7

(A) Brain writing

(B) Gordon method
(C) Brain storming session

(D) Big-dream approach

Match the following :
List -1 List — 11
(Types of {(Features)
Qualities)
a. Physical i. Sharp memory
b. Ethical ii. Coordinator
c. Social iii. Personality
d. Mental iv. Character
Codes :

a b C d
(A) i i i iv
(B) i iv i i
(C) ii i iv il
(D) i iv i ii
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54.

55.

56.

ATHAT(A) : TEHR THHT Hl
Uiy ® WA FEEm S ¥
FiTeh W & ThE AT adT
JW faaRa g ™ |

HRT (R) : SRATHR THIHTT, TE
I e % fod fe oma
or=ar d Wermdr WAt § o
Y IO wr g, fatwa

THTerh afRoTe € |
BT

(A) (A) 3 (R) 31 W&l & 3T (R),
(A) T T& AT E |

(B) (A) 3R (R) 341 W € W= (R),
(A) I TEl AT T € |

(C) (A)TEl & R (R) & TR ¢ |

(D) (R) W&l & W (A) Tel &I € |

I T & G=d H, JUERl H

e afioe forar T HehaT €

(A) TTeq # TodE w9 @A dre /
e AT a1 T

(B) e Al a1 99E S e W
HieRIY T Fehell & |

(C) oT=iN® Tge a1 Al S GieA
St OIS 5T B meted A
T T |

(D) &R a1 Tgg ST 9ed
et § wfa w@aREs 28
3R ST IRt TIferd B T
AT &/ € |

{lshg IOHIaes UhaT i ST 2, 3

AT 4 FME 2

(A) o GiSTa AT, TG 1 a9,
O T Tsharara

(B) oMifd W W, THENG W
Tsparemm, Torifa = fg=or

(C) dfa=mia  WHIE, SRS
O, Tt o

(D) wifoRal T HUSHRAT T odish,
Ui T2 1 Torehed, T0HIT®
[ERIECRE]
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57.

58.

59.

60.

I AN o o § Ugel HgH
3

(A) e favemor
(B) ey femor
(C) Toqume sy
(D) IO T FmTor

FOAT H IR SEl OIS
fohe TR OR AT 2 e 2

(A) HRURE T

(B) T T

(C) Tomur favmm =)

(D) OIS ™ THE

ffafad & @ w1 o/ o | fye
TS ST ATqfesh STHal H 91T o &
FRT AT o od GoHTcHhaT I Lo
HETE 2

(A) WS i@

(B) e fafy

(C) wHffesh Fo &

(D) Tes @ ST

frfafad & gAfd I

et -1 et - 11
(TTOTH % T ) (Faferezam)
a. YRR i Fﬁ'&f@ﬂfﬁ
b. Afaw ii. e
c. HETSEH iii. =TI
d. TmfEs iv. I
HE:

(A) i i i iv
(B) i v i i
C) i i iv il

(D) iii v ii

[
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61.

62.

63.

64.

Which of the following Bill was

introduced in the Lok Sabha in 1985,

with the objective to make a special

provision to secure timely detection

of sick and potentially sick

companies and for setting up a board

of experts for speedy determination

of the preventive ameliorative and

remedial measures 7

(A) The Industrial Reconstruction
Bank of India Bill

(B) NABARD Bill

(C) The Sick Industrial Companies
{special provisions) Bill

(D) None of the above

Indicate the person who is considered

as pioneer in the herbal beauty care

in India and has achieved

unprecedented international acclaim

for her application of Ayurveda (the

ancient Indian ‘Science of Life’

based on herbal remedies) in

cosmetology and trichology :

{A) Sumati Morarji

(B) Shahnaz Hussain

(C) Yamutai Kirloskar

(D) Neena Malhotra

Which of the following items is not
included in project cost estimation of
a new business ?

(A) Preference Dividend
(B) Margin money for

capital

(C) Anticipated initial losses
(DY) Pre-operative expenses

working

Which of the following is the main

function of State Financial Corporations ?

{(A) Provide short-term finance to
large-sized industrial units

(B) Provide long-term finance to

small and medium sized
industrial units.

(C) Undertake variety of
promotional activities, like
preparation of  feasibility

reports, conducting industrial
potential surveys, etc.

Develop industrial estates for
providing land to a building
Entrepreneurs.

(D)
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65.

66.

67.

68.

Which one of them was not a
Corporate Fraud ?

(A)
(B) Abdul Karim Telgi case
(C) Saradha Chit Fund

(D) Ketan Parikh

Satyam Case

The
evaluate role and success of company

first social audit in India to

towards moral responsibility of

employees conducted by

(A) Birla Group (BALCO)

(B) Wipro

(C) Infosys

(D) TISCO

SEBI asked entire group “A”

companies to submit a corporate
governance report in addition to their
annual reports from the date :

(A) April 1,2001
(B) April 1, 2000
(C) January 13, 2006
(D) April 1, 2008

The practice of willingly hiding

relevant  information by being
secretive and deceitful known as

, occur when organization
punishes individual who is open and
honest and rewards the one who has

unethical behaviour.
(A)

(B) ‘Counter Norms’

‘Window Dressing’

(C) ‘Stone-walling’
(D) None of the above
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61.

62.

63.

64.

ffofaa & @ &4 a1 fadaes e o
q T 1985 H, T TE GWI T
FHHET & GHETET TR % ford
TE T [T, gEUR U STERY
Tzt o U aReg it T A
M % 329 H IR TR T 2

(A) YRAE SRS TE S

IEERED

(B) TS fagas

(C) T fEfes i (fawm-
PICCIERCERED

(D) ST H A B T

=i YRaad § 9igd 9o & &7 |
STEr Jiedi & ST H TEe R ud
5 digg qur Fw fomm & & A
AT & AN & o7 SRTLT TR T
IS UTAls W g2 &, AT A1 T
(A) T ARRST

T FEEET & URISHT AT 3ATeher

T f=fefaa 4 9 fa gafose T2 foar

ST E 2

(A) aIaT AT

(B) NS Ysit o ford wife o= (3
HINEEIRCE)

(C) ST STRMETEH &1

(D) Ya-vaATeHITS

ffefea ¥ ¥ #1 o9 fo e

T & € 2

(A) dEieR afEiftes gwEdl @
TAHIA Tor T BT |

(B) 7Y Ud HeAH MHR i THEAT
SHehIeAl fore Te T |

(C) andfasar Gaet [uie, ai=nfms
HEAT Faor 39 foeawor wE
FT |

(D) e SafEt = 9f 37 & fom
enfiTer fadr o1 T e |
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65.

66.

67.

68.

frefafad & 9 S |1 HRARS HEr &
o 9

(A) TIY HTHAT

(B)  3T5et M T HIHer

(C) I o ®e

D) e aRE

FHUAMET &l Aok TR o ufd e
1 TR T WHTAT HT HodTwT He
& o7 aRa | v | i@ gy
Toreeh ST Toham T am 2

(A) ToRet THe (STeshi)

(B) fom

(C) TwIrag

(D) et

Tt 7 O YT ‘A’ HEAT B ST
At wfdesAl & SfdaRe Hefaiad
fafsr & ®RUNE e dfdesd S =
% o1 FRT T

(A) 3T 1, 2001
(B) 31 1, 2000
(C) SFeRI 13, 2006
(D) 3T 1, 2008

ST G H Y S i S 9T oot i
3T TAFRR ¢ ¢ faar siar & oiR o
T H TR FHTH ¢ 3 TEHd
o ST & @ U9 EHE W Mg ue
FHISYUT TAFT YT T i S !
T Iq Bl €, o Fretartea e
ST e

(A) fagst

(B) Wi AFs

(C) wH-ameT

(D) ST | W e Tl
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69.

70.

71.

72.

Corporate Governance Committee

appointed on May 7. 1999 was

headed by

(A) Aditya Birla

(B) Kumar Mangalam Birla
(C) Rajendar Sachar

(D) I.S. Mehta

The
comes closest to

term ‘Corporate Governance’

(A) Corporate Management
(B) Corporate Administration
(C) Corporate Planning

(D) Corporate System

The highest amount of FDI in India
comes from

(A) Japan

(B) U.S.A.
(C) Indonesia
(D) Mauritius

‘Free trade’ means

(i) Opening different sectors for
the FDI in flow

(ii) greater competition which, in
turn, enhances efficiency

(iii) Development of new industries

(iv) Incentives for Imports and
Exports

Codes :

(A)  All (), (i), (iii) and (iv)
(B) Both (i) and (i)

(C) Only (ii)

(D) Only (i)

73.

74.

75.
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Statement 1 ‘Free trade’ leads to
specialisation and thereby to
increased output.

Statement II : Import restrictions
are both long term and short
term measures of balances of
payment adjustments.

Codes :

(A) Statement I is true, but II is
false.

(B) Statement II is true, but I is
false.

(C) Both the statements I and II are
false.

(D) Both the statements I and II are
true.

In terms of the increasing
competitions, among the MNCs, rank
the followings in the ascending order :
()  Mobile Technology

(i) Business Intelligence

(iii) Cloud Computing

(iv) Social Media

(A) (i), (ii), (iii) and (iv)

(B) (iv), (iii), (ii) and (i)

(C) (iv), (i), (ii) and (iii)

(D) (i), (ii), (iv) and (iii)

Statement 1 ‘Trade
and ‘Trade Diversion’
have welfare implications.

Statement II : Regional partners
should be competitive, and not
complementary, for the
purpose of the most efficient
use of economic resources
within a Customs Union.

Codes :

creation’
both,

(A) Statement I is true, but
statement II is false.
(B) Statement II is true, but

statement I is false.

(C) Both the statements I and II are
true.

(D) Both the statements I and II are
false.
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69.

70.

71.

72.

HRARE T GG ST 7S 7, 1999
e & Mg ot @ sremerr R @
o 9

(A) e foet
(B) AR HiTeH ferem
(C) TSI @R
(D) U9, Hed

“PHIRARS IME HT U5 {hdh Faiah
THT T & 2

(A) RURE Ta=

(B) RURE weTE

(C) RURE =

(D) SIS FTET

ORA U UF.SI.3TE, i I=oay AT Fel 9
T & 2

(A) SO

(B) Fuwaw
(C) ZemRmr
(D) wRSTeT™

Yo (TE9R) SR 6 37 &

() USSME aae & o =
& BT IMTHA HEAT

(i) FesaR UiaAiiTar S Y &Taar =t
T & |

(iii) el S 1 T

(iv) Tl ue et o g moame

e

(A (@, (). (i), Gv) T

(B) (i) &R (i) A0

(C) = (i)

(D) et (i)
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73.

74.

75.

HUA | : ‘o< AR [T &
3 JgT T & 31T T TR
Algd IR B T YA B
T

FuA 11 : a6 dfaed, P dqe
TENE  F SEeieE U
STeHITeAh ST ST & |

wHE

(A) T 1 9T €, g FF 11 38T

g

(B) &M I 9 §, W] FIF 1 30
g

(C) U1 AT A I & |

(D) F1 AR G & |

TN T & S gl §5 el &
e o fefefEd @ e we o
mfwaa%ﬁtr:

i HieTEe EnfTEe

i, foorg Rfesia

iii. oSS HART

iv. 99T Hitgan

(A) 1 i il 9 v

(B) iv  iii ii @i

(C) iv i i @ iii

M) i i iv @ i

FHoA I : ‘R H GoA° AR AR
fIuaior S % HeATITER
T &I & |

FHAA 11 : FH1-Yosh 69 % 3T/ AT
T o HaEe S STE %
forl, &t=ita HTeiert i wiad g
e 3R /e =& |

HE

(A)

FoH | I §, W HoH 11 39

T

(B) &M I 9 §, W] FUF 1 310
T

(C) 13RI FEAITTE |

(D) 1311 3H Fo 3T & |
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